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" J
BTEREE vs. KEFIRE 4

bR EE: min f(z) s.t. 2 € S [ZHENT, ma* e
SEFDIREN(z*) ={x e S| |z —z¥|| < d}HIxt
LT

f(@®) < f(@), Vo € N(z¥)
MRRYIDEE s ZRATREREE .

f(@®) < f(z), vz e s
MY IDEE ™ Z RERREREE NS,

{ BRRAKN I THNIL, BiFRE—KigH&E ]




2R DA J (x) ZRAWLDA)YMEfH ?
(ex. Fx/IN =3 IE A0 il 1)

- J'(x) = 0 B ERARERIZLES.
- (hED T, T DEEH KB K & 7

I BT AN S R D GERZ) B THAHESE, E2TAREMN?

- ElIThBfTxEAEZTZRD+5. (Thest’ifiz ITHSHH
EOMTEEE, HONIERRDEAIZTXRZEZTLT )



BRRERE KERREE

JH

< >
f (X) : 2% or convex f (X) : highly nonlinear

REERGEDNERBICETEN/ 00T WNEEDRARELZEZ 5.
BrIBAR I M aTaesl, IBER, S RDOWSIFEHZZFRT 5.



(RASEBDIHE)

FERTHAODEH

af (x)
0x

=0

x=x*

WBNATHAHA=ODEH (EIZMAT)

0°f (x)

92 >0

x=x*




NYJ FIVEREREAIRERT 7281

A)EE (gradient) X9 kL

4 =T

d0x,0x,

_ ?g(x)_
rfeey = 0o
L | p=g* Af(x)
| Ozp
~ vt 175 (Hessian)
(0%f(x) 0°f(x)
92 (x) 0]
Py == =)
x=x* [0x,0x4

dx=x*
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Yo
= (xo,
HAOE

iul?))

R M

S: )
o vV = Yo
5115 1% "
28 -
= a(x
— 7y =
| of (%0, Vo),
“= 9%
af

(X0, ¥0)
b = E



THOXZEEDORIZTSHE
(z—2zp) —alx —x9) —b(y —y9) =0

ERANIML g = (—a,-b,1)

EBRRIRLD (x, ) FEADE
(—a,—b)IZ, (x,y)F@EIZEWNT
Fm S DzEEENZERVT D
ARZERLTLNS.

0 0
(a,b) = (% (X0, Yo), % (xo, J’o)>

(&, () FEICHEWNT, z = f(x,y)
DIED, BFFMIZE&BIEMNI D5 R
(BEAR)ZRLTNNS.
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SERERORILD z A M
mWTULNIE, BEMEEED
EBLIZEILNTE, 2z BEAEEIX
ZiE L%

ERANTNILD z B A MND
INTNSES, BUARLD
z BENRLEVDRNRES.
ZDARITERENILILE
FEEAFEZLIZARTHA.
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" A
B =2[FT % (steepest descent method)

DEMRMDEE BAEDSZNL, BMERENZRLELTLIFRE
BATRIET DI ETRRYRE (XKL

L£RTOHE VI(X) (ZEHBEHOEN
KORKSCEMT H57AM

LRI DI, TR AME

g
dp = =V f(z(k)),
el 1) =) +‘-r
Vf(x(k))
HEANTMNLEEERIIER ® EnFEIHEDLMN?
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ATYTMEMNINENERRY RLEIHAN LD
ATYTRARENEREFEIZLD

BN —FBERENECAHTE

TED DAL

-

ATY 7’¢Eakli
f(@(k) + apdy) = min f(z(k) + ady)

EFDEIRE (EFRER)

~

{

=1k &4
Vi(z(k))] <e
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iy =

) AITIXN

f& T ;% Malgorithm

. Choose z(0). Set k£ := 0.

. Compute the value of Vf(z) at z(k).
Let di. .= —V f(xz(k)). Stop if ||d.]|| < e.

3. Choose step size «a;. via a line search, i.e.,

. = arg m>i8 f(x(k) + ady)

4. Update z by z(k+ 1) = x(k) + apdy.

. Set k:=k+ 1. Go back to 2.
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" J
m 58 1 min f(x)

T = [xl ] . (@) = (z1-1)°42(z2-1)%, ¥ = [ 1 ]
>

T

k T1 L2 flx(k)) | IVFi(z(k))
1 0.00000 |  0.00000 3.00000E+00 4.47214E+00
2 0.55284 | 1.10567 2.22289E-01 9.89187E-01
3 0.92351 |  0.93048 1.55172E-02 3.17387E-01
4 0.96820 | 1.01171 1.28569E-03 7.89917E-02
5 099183 | 0.99431 1.31580E-04 2.80303E-02
6 099673 | 1.00114 1.32717E-05 7.96437E-03
7 0.99923 |  0.99940 1.31604E-06 2.85385E-03 | tay } 2 g

0.99967 1.00009 1.23634E-07 \||V f(z(k)| < 1073

16
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H g“% 2 min f(x) f(m) — (331 — 1)2 4+ 10($% _ $2)2,;1;* _ [

k 7 72 FG(R) [ 1IV/ @)

1 0.00000E+00 1.00000E+00 1.10000E+01 2.00998E+01

2 9.90037E-02 9.96300E-03 8.11795E-01 1.80263E+00

3 3.38997E-01 9.53360E-03 9.47986E-01 2.11043E+00

4 3.34044E-01 1.07094E-01 4.43699E-01 1.27507E+00

5 4.30998E-01 1.13941E-01 3.75341E-01 1.43984E+00

10 5.28588E-01 2.76497E-01 2.22314E-01 8.83249E-01

20 6.97193E-01 4.30128E-01 1.17548E-01 6.39942E-01

30 7.28946E-01 5.30180E-01 7.34845E-02 9.08218E-01

40 7.77117E-01 6.02786E-01 4.96895E-02 4.11426E-01

50 8.13594E-01 6.61159E-01 3.47532E-02 3.47871E-01

100 9.08144E-01 8.24018E-01 8.44254E-03 1.58631E-01

200 9.77606E-01 9.55603E-01 5.01633E-04 4.05543E-02

300 9.92288E-01 9.84603E-01 9.94799E-05 1.41382E-02

400 9.97204E-01 9.94381E-01 7.83029E-06 427191E-03

500 9.98832E-01 9.97650E-01 1.36711E-06 1.79332E-03
529 9.99101E-01 9.98191E-01 8.09872E-07

9.94169E-04
—————

=1k 54

IV f(z(k))| < 1073
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" J
n RETIEDE

HERFEZITEATY, EBESNL 50N ERLGLIE, ZORNDEREAIT
B f DEBRELS.
KERIRER EZEHD

G = V2f(a*) > O(RBHEDTHREMH) THEHEE, /LA | g
ZLUTDELOIZEDNS.

’T—]_A
7+1
z]lg = Val Ga. | 1
SDEE, Ve>0, IkgeNst. T """"" /
. T—1 . / >
|lz(k 4+ 1) —2%||q < T_|_1+€ |z(k) — 2™||q, Yk > ko. | T

! GOFHEH (RKERELH/NERIEDL)

[ e~ 0¢&EITNIX, BAFRERIC—EDLE J T>>1M0DEFIE

(r—1)/(7+ 1) TUR (1 RILR) [FIEFITEL
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Today’s minutes paper

f(z) = 27 + 25, 2* = (0,0)

V2 f(z*) = [ ] =:G

T = Amax(G) /Amin(G) =

&
N
—

v — larger f(x) = :c% + fy:cg, ¥ = (0,0)
AN VR = [ ] e
— T = Amax(G)/Amin(G) =

21
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A KEBHIRMEZSD

| of

o UEPEAHE DRV (RELELY)

"Ea

—RYNR

BEIEEH: [Vi(z(R)| <10 3mEE

N (RN FEEISEGDIGEELHD)

H %k MEME | =EE | #2YiRL[EIZE
BlEE1 | (z1 - 1) +2(z2—1)% | (0,0) | (1,1) 8
BIEE2 | (v1 — 1)2+ 1022 —22)2 | (0,1) | (1,1 529
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B JYSROWSTRERNFoNDES
(GE#RTZ) HRERBO T -5 —REZEZADE...

CCETORERTRM&EEILZSZED REMETA

flotb2) = [+ f (@) G000V f (@)t -

2B M REBDBEHETHALT, SHIZTHRLVEIE
mEEZEH D
—a—bkUik
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LHBIDFITIE f(x) =x%2 -2 =0 DEEZKRD BT
[CZa—bkEZAWD, C2THE f(x) AIBEZE
WMAHEH f'(x) =0 Zml=9 maKHAH=HIZFED.

if*uﬁu0)15'Jli17*zﬂFa§lﬁﬁl§*T%tL’CL\t7b\
SEIEIANVMIVERICH T HEABEAFRELTINS.
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m —a1—hk
JEfRTZ BB Z 2B THEU L, FASERIZ XK > Tw/ME

fz46z) ~ flz)+Vf(x)léx+ %5$TV2f(x)5a:

1
=: c+bly+ §yTAy (A=A")

DEER/IN = oz =
F5iEl }

Thew —

y:

REEREIZA > 0 {KTE
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'_
Q1. REA > 0(V2f(z) > 0) IEZZLUM?

Al. BTEBEED T E
TlIEXEIZRAL

Q2. TR2EEHTIXLHEWNWELDIZH LT, EFAERRICEICEHAUZE
AWTkRUVMN?
Tnew = 7 — V2 f(2) IV F(z) =: 2 4+ Az

V@ ZO0DEE G ry Ax) = V() V(@) IV f () < 0

A2.Yes. BEEEEFHARDRK AN
QOE LYK = BEHUEIL T B
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V2f(z) > 0 YIID& S AE

ICHHEEZ D EHY
B RTEIIR R

IRERTMHIZCEAL TIE, HATEHS > ONFEHELT
|z(k + 1) — 2*|| < Bllz(k) — z*||?

—a—bkEDYFE

2 RINEK

[O] INEMIFEFEITEL (2RINK)
[xX] #¥HEZmEAEEICEOIVEDY
(BRTRIIRREL M B T=7ELY)
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" A
m —a1—hk2iEMDalgorithm

1. Choose zg. Set k£ := 0.

2. Compute the values of Vf(z) and V2f(z) at z(k).
Stop if ||V f(z(k))| < .

3. Update x by
v(k+ 1) = 2(k) — V2 f(2(k) "'V f(2(k))

4. Set k:=k+ 1. Go back to 2.

28



" Jd
[XE2FTEDHIRE2Z]

15l 8

f(z) = (21-1)?+10(z%—23)?,

I HAfE

: 2(0) =] 0.2 O]T

x*z[l 1

BIEEH: ||IVF(z(k))|| <107 3m&=E

RERETA
TIF529[H]

—

k T 2 fe(k)) IV (2 (k)]
1| 2.000E-01| 0.000E+00 6.560E-01 1.509E+00
2| 6.444E-01 2.178E-01 5.166E-01 5.899E+00
3| 7.163E-01 5.079E-01 8.077E-02 4.322E-01
41 9.735E-01 8.815E-01 4.447E-02 2.849E+00
5| 9.849E-01 9.699E-01 2.285E-04 2.522E-02
6 | 1.000E+00 9.997E-01 5.177E-07 1.009E-02
7| 1.000E+00 | 1.000E+00 3.167E-14 2.961E-07

29
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(EapBTE h
[O] KEBRIIEEZEHD
BEOHPE

[X] 1XRINZE
J
N

o

—a—kE A

[O] 2Rz
[X] FBRTRIUNGR TS
Ny ITHIDETENE

_

—
Za—bEDRRERRIHELD D, EOUREZRFF

 #Eoa— Uik |

Vif(zx) ZEERWVSRRDLYIZ, 75 H, #EBRGE
LDD, IXERARZTIRE.

(V2f(z) D5EElzE)
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)

m =1 —kiEMDalgorithm

1. Choose xg. Set Ho =1, k:= 0.
2. Let dp ;= —H, Vf(x). Stop if ||dg]|| < e.
3. Choose step size «ay, via line search for

xk_|_1 — T —|— Oﬁkdk.
4. Update Hy.

. Set £k:=k+ 1. GO back to 2.

o1

At k = 0, d;, is the steepest descent direction.

IR ChETIEARY FLoDEBBENER, EXFILTLE
BDxZax(k) EREBLTERN, UTTIXREEITEL
EULND Ty, & REL. 32



" Jd
m T —FEDOEE

Hp > 0h\HFFcsn4RY, BYERL ZEICHMERIE
(FEFRBDT S.

(dy, V() = Vi(zp)dy
= —Vf(zp) HyVf(a) <O.

(Za—kriklRRR)

33



HessianDial (RATEHDIEE)

2 _ 0 Vf(lz + Azx) — Vf(x)
Viie) = B—Vf( )= My Az
EOTAxzHINESWWEE
Ax
Vf(x — Vi(x
o V2 (prr) f(zp41) f(zy)
Th41 — T

Sk = Tt1 — Ty Yk = Vf(xp41) — VI(xg)

NIMLVEH-DIZE
Hyy1s, = yp BAEETH H £ VHISEDH D ?




" A
[ H;, = }

Sk = Th41 — Ty Y = VI(xp41) — VI(xg)

- DFPAAS . .
I — . 4 5Bk Hpyry, Hy,
b1 = He T = —
S Yk Y 1Yk
 BFGS% - -
YrYy,  Hpspsy Hy
Hyp1 = Hp+ % — :

T
S Yk s1. Hysp,

David Shanno: Karmaker®KORBX (8905 K /L)
(2339 BH0B1 (5 KIL) DEAFE A, i‘@UtUSS



[ﬁ%%ﬁm%c;éﬂk>owﬂm(DHﬂ]

Ho=I&Uk=0DEERY IO,
H;>0zkRELR-EE, H;4 1> O0%RY.

WEDz,; [IEFERERTIIENET S, 905V f(x;) # 0.

WEz # 0B 2 Y FLEEX, BEHROFIEN b2, 0 EMTHE
a:'T.sZ-.s;.F:c B azTHiyiy?Hiac.

T T
r  H;y1x =2 Hx+
sly; y! H;y;

(1)
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= B
R (L)EDFE2EOHDFIE|s! z|? > 0. HEHE
sTy; = sT{V f(x;q1) — VI(@)}. (2)

S; 'j:$@75\6$2+1 ~DEHRTHAHZ &I

AR, BELVERERDOEGR, ;28T

EfRIFEMWBEMDESRIIx T HIERIC
o TWA. bbb

\\a:o.

V TV f(x;41) =0. (3)

\

T4

Sq

Frs;1¥a; >0, d; = —H;Vf(zx;) IT&kYs;, = ad; EBETS.
2T
—sIVf(z;) = a; V(@) TH;Vf(z;) >0, (4)

(H; >0%BDT). £2T(2), (3), @) bdsly; >0&kY,K (1)
HDE2EIZES.



—7, X(DEAELELBLUVEIRZEEHD E

(x! H;z) (vl Hyy;) — (21 Hyy;)?

(5)

Schwarz D 7%=

(u!' Qu)? < (u! Qu)(v!' Qu), VQ >0

(FFEHILIEv = Au, e ROEZFEDH) LY, K (5)I&
JER.

cf. (v,u) < |ul?|v|?
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X (5)M0, THEHLEFETHILINDEE, v = \y; EHE-TL
ABM, COEEFE2EIE

T T
Y h SZ'S-CU 2 T
T Z _A y. Sio
1

_ 1
S Yy

FISRLIzESITyls; = sly; > 0THY, 2 #0&kVY
A#0. LE=A>TEL 3EBOMAOTH->TH, D&
EE2MEIFE. LA > TV # 01 LTal Hyy 12 > 0.
JhHs H;q > 0.

Q.E.D.
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= B
o2 — b EDOEH

BRIBR f ARG o, EEOHRERICH L TERK
chd R {2} DEERITFERE

R BIUR %

IR LTI, @ I2BLTV2f(2*) > 0
£

R
i |TEt1 f s
koo |log — ¥ 1R
IRILE (B2 T %) 2HRUNE (=a—hik)
— 2
zpp1 — 2l < Bllzk — 2™ ¢ |21 — 27| < Blleg — 27|
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"
LRSI

EETHDF H k> TEEDAM, = —H.Vf(z)
ICR T AR EGERICEDTHREEHFTIHESE

—RR(CHBEGEE LS.
v, H.>0&HBES5LBEHAUAEEZ TS E 21—}
VEIIAERETHB.
v BEBTEE, BICH,=1&LLTVWREEREDER

F—Z2THD.
V AYETHIIEEE LIRSS, BEIERL S HHY
W=h= 21— b Uk BERETIEAEL.
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21— AT RIS L%
Octave, MatlabZf T1ERK,
JOUSL) RN FTEHRETZETEDHT
8/19F TIZIRH. (PDFIZLTA—JLiFAT)
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